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QUESTION 1

A customer would like a scripted solution to resynchronize USP600 ShadowImage volumes and be able to access the
secondary volumes within minutes while the copy is taking place in the background. The customer is running the latest
CCI version on a Solaris server using the korn shell; the CCI device group name for the ShadowImage volumes is
SI_db01. Which series of commands should be scripted to accomplish this? 

A. pairresync -g SI_db01 -fq pairevtwait -g SI_db01 -ss pair -t 180 pairsplit -g SI_db01 -fq 

B. pairresync -g SI_db01 -fq pairevtwait -g SI_db01 -ss pair -nowait pairsplit -g SI_db01 -fq 

C. pairresync -g SI_db01 -fq quick pairevtwait -g SI_db01 -ss pair -t 180 pairsplit -g SI_db01 -fq quick 

D. pairresync -g SI_db01 -fq normal pairevtwait -g SI_db01 -ss pair -nowait pairsplit -g SI_db01 -fq normal 

Correct Answer: C 

 

QUESTION 2

A customer is implementing Copy-on-Write SnapShot (CoW) for the first time on a Universal Storage Platform USP100
array. What should the customer do prior to creating the pool? 

A. Create the V-VOL group. 

B. Register the pool ID number. 

C. Initialize the V-VOL management area; 

D. Place the pool disks in a separate CLPR. 

Correct Answer: C 

 

QUESTION 3

You have set up a Microsoft Cluster "file share" resource called "EngDep". This is dependent on a physical disk
resource called "DiskE" and on a Generic Script resource called "HSCScript", which is the Hitachi Storage Cluster
(HSC) script. In which file is the HORCM instance defined that needs to be active for these resources? 

A. DiskE.conf 

B. horcm0.conf 

C. EngDep.conf 

D. HSCScript.conf 

Correct Answer: D 

 

QUESTION 4
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A customer is planning to use Universal Replicator for Disaster Recovery of a normal transactional database (e.g.
Oracle, DB2). Which two must be included in the same Journal Group? (Choose two.) 

A. data files 

B. transaction logs 

C. database dumps 

D. application binaries 

Correct Answer: AB 

 

QUESTION 5

A customer wants to replicate a database on a UNIX host with Universal Replicator but exclude the temporary and
backup file systems to reduce the replication workload. What should be reviewed to ensure this is possible? 

A. SAN zone layout map 

B. file system usage report 

C. database relationship map 

D. volume/disk group volume layout 

Correct Answer: D 

 

QUESTION 6

An Hitachi Data Systems customer is planning to use HiCommand Device Manager (HDvM) to manage their TrueCopy
pairs on a Universal Storage Platform. Which two are required before TrueCopy pairs can be created with HiCommand
Device Manager? (Choose two.) 

A. The P-VOL must be defined as a Command Device. 

B. The HDvM host agent must be installed on the CCI server(s). 

C. The MCU-RCU path must be defined using the Storage Navigator. 

D. The HORCM configuration files must be created on the CCI server. 

Correct Answer: BC 

 

QUESTION 7

A customer has replicated his database internally using ShadowImage. Which two benefits can be expected from this
approach? (Choose two.) 

A. Fewer storage units are needed for Disaster Recovery. 
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B. Multiple updates can be made against the data at the same time. 

C. More reporting applications can be run against the secondary copy. 

D. The applications can be restarted faster in the event of a database corruption. 

Correct Answer: CD 

 

QUESTION 8

On the Storage Navigator frame for a TrueCopy pair operation, the "Status" column indicates PDUB. What is the status
of the pairs indicating PDUB? 

A. This is a TrueCopy LUSE status of a pair suspended error. 

B. This status indicates that the TrueCopy pair is in the initial copy. 

C. One or more LDEV pairs are SMPL on a TrueCopy LUSE volume. 

D. The status of the TrueCopy software LUSE volume is in the initial copy. 

Correct Answer: C 

 

QUESTION 9

When performing a migration using Volume Migrator, which three LDEVs cannot be migrated? (Choose three.) 

A. An expanded LU volume. 

B. Volumes being used by Concurrent Copy. 

C. Volumes for which there is a pinned track. 

D. A TrueCopy source volume which is in PSUE state. 

E. Volumes being managed by Cache Residency Manager. 

Correct Answer: BCE 

 

QUESTION 10

An Hitachi Data Systems customer is implementing a TrueCopy solution on a Universal Storage Platform (USP) with
Consistency Groups. When using Storage Navigator, which option in the TrueCopy Configuration Options panel must
be selected to define the Consistency Groups? 

A. Pair Options 

B. RCU Options 

C. Usage Monitor 
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D. Async Options 

Correct Answer: D 

 

QUESTION 11

After executing a paircreate command you find that the secondary volume is mounted to a system. Which action
sequence should be used to correct this situation? 

A. Unmount the secondary volume. 

B. Unmount the secondary volume then execute the paircreate command again. 

C. Execute pairsplit -S, unmount the secondary volume, then execute the paircreate command again. 

D. Unmount the secondary volume, execute pairsplit -S, then execute the paircreate command again. 

Correct Answer: C 

 

QUESTION 12

A customer would like a CCI script to resynchronize all of the ShadowImage volumes on a USP100 defined in CCI. The
customer is running the latest CCI version on a Solaris server using the korn shell. Several CCI device group names are
used. The primary volumes are defined in horcm0.conf and the secondary volumes are defined in horcm1.conf. Which
command would be used in a script to list all of the ShadowImage CCI device group names prior to executing the
Pairresync command? 

A. raidqry -g 

B. raidscan -g 

C. pairdisplay -g 

D. cat /etc/horcm0.conf | grep group 

Correct Answer: A 

 

QUESTION 13

A customer must implement a second data center about 80km from the primary data center. The intent is to implement
the extended cluster server feature. Which two statements should the customer be aware of? (Choose two.) 

A. Each node has its own quorum disk. 

B. Each node can operate independently. 

C. Each node requires a quorum majority to run. 

D. Each node must start on its own before joining the cluster. 

Correct Answer: AC 
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QUESTION 14

A customer is replicating data between sites using Universal Replicator. They are using CCI at each site running on
Solaris servers with korn shell; both CCI servers are also used to control ShadowImage pairs on each array. The CCI
device group is named UR_db01 and each server is using the horcm2 daemon for the Universal Replicator pairs. Which
two sets of commands will set the correct parameters and display the status of the Universal Replicator pairs in the CCI
device group? (Choose two.) 

A. pairdisplay -g UR_db01 -IM2 

B. pairdisplay -g UR_db01 -IH2 

C. unset HORCMINST; export HORCC_MRCF=2; pairdisplay -g UR_db01 

D. export HORCMINST=2; unset HORCC_MRCF; pairdisplay -g UR_db01 

Correct Answer: BD 

 

QUESTION 15

A customer wishes to create copies of a database using ShadowImage on an Adaptable Modular Storage (AMS)
system. Which three products would be used to accomplish this? (Choose three.) 

A. Storage Navigator Modular 

B. Command Control Interface (CCI) 

C. HiCommand Device Manager (HDvM) 

D. HiCommand Replication Monitor (HRpM) 

E. HiCommand Storage Services Manager (HSSM) 

Correct Answer: ABC 
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